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DYY-004-004210 Seat No.
M. Ed. (Sem. II) (CBCS) Examination
May / June - 2015
Stat. Methods for Analysis of Data : Paper-II

Faculty Code : 004
Subject Code : 004210

1
Time : 2; Hours] [Total Marks : 70

el 0 (1) [AeLl-a-l ol o Uesdl s3I B,

() [aedR1-2L ussiledl Yoyl Harel G @vidl,

(3) oin (Aol G vy Gradldi o dval.
Instructions : (1) All Questions are compulsory in Section-l.
(2) Do as directed for Questions of Section-ll.

(3)  Write both the sections in Main Answer Book.
[eua -1
1 MCQ 20
(1) viRi, vilel usia-ll »ls ue 12 sl et 0.90 wind 43y, 89 d »izell
Hie dt yed 3eq egl ?
@A 1 B 2
@ 3 D) 21548 1<l
(2)  dHHIlRd [l Aysl Hie [ g 2 3ud] qilsdl Hie 1 ey 16.13
8. ol viere-d 9 8 ?
(A)  0.01 saul ylds
(B) 0.05 s&lxl qds
(C)  0.05 sall ulds 49 0.01 sl dids gl

D)  BuAsd isuel [Ased A€l
(3)  UHUIRG ds welM] 16 2 —16 g2 wig[xid uHleL vl 3ed

Sy ¢
(A 0.16% (B) 0.38%
(@) 0.68% D) 1.00%

(4) 7" - sdui el YL 1% @0l 219 © 2
(A »uglx 5ell ay €y
(B)  d[x 5l 26l Sy
(C) gl 5Yl e8] vid df = 1 €1y AR
(D) GRS visugl Al
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(5)  siddledl U-sllil Uy =465 214U, =53.5 dlu dl Ny Ny Hed
seq €1y,

(A) 80
®) 100
© 120

D) 140

(6) [z 2ilbls ueyoiyls dibal-l Yotdi U g sauld 8.
(A) o Lovizel] GRS
(B) AU gu+ [Guen
(C) P Qv un18l
D) Gusd isusl A&l

() [big [a-8ilkls qsuoitis @lo), vid @aelL 8.
(A 2 AR VR R(lui Sly
(B)  sa4 Yuss0H| Guyla(l 8
(© vl Ul & qoila] o e ade €y
D) BULsd visvel €]

(8)  HEH YUSSQI-AL 240 M S8 s seu~ll M2l s412] 1A eyoldis
0.70 Wit ¥l <l ..

(A)  sa4 g sl RS

(B) se 4oy 8

(C)  say Yol A5

D) seH (M2 Uissy 59 541 4 wsY

(9) [z ARLs v g (3 2B1s deyoidis Hie g uy S 7
(A) [z 3lBLs sl big (& 810015 vsuoidisd Hed ay [Mayy 8
(B) [bg [z 2l sdi [z silbls ysyoitisd e Ay Mau-ly &
(@) ol (A2l 518 o - sl usy
(D) il HI2 2is4el ey 1],
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(10) A1[%% U uoidisyl AD > BC €14 dl
(A) BYLYS Ho{Y
(B) 8-l U yoly
(C) Y ds Yoy
D) 20l A u u

(11) ¢ ol Al doiy 9.
@ 1y
(B) Hixi[ged U-yey
(C) F-y&u
D) -4

(12) v, =0.45, 1, =062, 1., =0.71 Sld cl v, 4 Yed 32q uly ?
(&) 0.620
B) 0.615
(©) 0.610
D) 0.625

(13) wi=y el 2R 52 &0 6l Aell 2] oy wolgl HIe lHalni
298,

(A wilus weyely
(B) oy ysyoly
(C) AUgrsl[8s ysyoly
D) &l Heoid

(14) s 2aYd™IR = 0.25 1Y dl [42A08 UHI8L 32g U1y 7
(A) 0.06
(B) 0.60
) 0.625

D) 0.07
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(15) AR SAERL A, B, C 21 D $13 w1 del 4y de uoidisl ulell

. Fac
20 1Y )l YHUHIGLAL gl 2R _’”Bc = Yy,

(™ 121 29(2).

T4AB 'AD
@ ®B) 7
BC BD
"BD TRC
o BC
© TAD © Tac

(16) 518 vl UYL 3i& W™ Y12 WM AL YA 3.662 S1Y »iv

V7 =5.281 S1d dl ua =y vayq g €1y ?
(A) 0.641 (B) 0.693
(C) 0.683 @) 0.695

(17) 518 sy Ml [ayludid 4 0.72 iy ) ot (2420 gy ?
A 029 (B) 0.28
© 027 D) 0.26

(18) A8 BisAA HI2 UMY 219449 0.6, 0.0,0.3, 0.1 S14 dl A14elMsdl g

Sy 7
(A) 0.42 (B) 0.43
(C) 0.46 D) 0.47

(19) (228 Y5539l ded a0l wuydl (MS) 2led
(A)  aollnl ¥l 99f
(B)  aeli-il urdlon /df
() dAf) aof
@) SS,/SS,

(20) ugliall 2t wousld wiid a8y 43l AeqRH] HURHL
[Biu1offy (M8 yeu sl 2edl F yey 14|,
A 2 B) 3
© 4 O 1
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1 A euldd & wsiuid] S5 i wai-il Gl 2UU 500 A0ELHL A1) 12

(1) =l AouHl saml 2419alL 218 WlRIH 35 oMl wi (el 8.
dell AL Z U3l UL 8. 838 FUA vieol-uedl Yglaedl Riggl
w2, dl Y YL Udisl Hsu] ol 4Ol dslad Hlels 9 %
¢l d F-yel »1413 saldl.

%4-A : 30, 20, 25, 15, 20
¥4-B : 10, 15, 20, 10, 10
%4-C : 28, 12, 20, 10, 10
%4-D : 10, 14, 12, 10, 14

() U0 HUBd] 21134 A[adHe Y2Us O 334 d 518 4ol Y glrl

I

AYRlYHd  Aud  derw wAHd  AYRlAHAHA
SUIR 50 60 20 50 20
5| 20 30 10 30 30

(o) ol [ANyHl dikls (12 suldal 8 d-l iR dirdled] y-sHidl-l
CTRNERENPERTRIETE

alid 25 22, 24, 28, 23, 28
[t : 33, 35, 38, 21, 20, 23

2 {3 2t el welHidl S9Uel & wslldl G 1R 250 sl Hulelml 12
By :

(1) 2y sE0) 2in didy sHld2l 92 dsidd W 53 2y
5418l wllell slu el welldl.

(2)  wldyq yussel-il w1 1Y) vigdd UsR w4l dul s
AUHLLLAL [Mgldell uu 2.

(3)  {12A8A $41s dsladedl usoly ldl dul xAdued 3

s @ 38, 26, 42, 26, 29, 48, 206, 21, 40, 28 29
alkid 0 25, 32, 30, 39, 25, 30, 25, 28, 23, 30, 20
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3 il A1 Wall UL -2l Walleil Griy 150 UselHl ML : 12
(1) slals wiou-dl Riaslel 218 20414l 32els Uall YeoaiHl 2l d
ol WallHl Uit U2l sulde 8. d-l 2R 515 uAsils ()

Hod] 2d8er 53 ;
Wsi-1

HH-R AL | &l
gl [60 |90
AL |70 |30

(2) 252 uRel2ude 8. 1 -4el od :

gl | -l
HI% | 52 | 46
5l |68 | 35

(3)  uus 2 [y sel-dl 2iRs usiolals Gelsvol il Yol 2.

(4) 00 MUl 2413 A 240 Ysll-l Gl vl :

AL Ay [y ~{ludl
e | 1 11 III IV
1 (0.3 0.2 0.3 04| 0.75
2105 03 02 04| 065
3104 03 05 03| 0.70
4 10.2 0.0 05 05| 0.60

() ot Yel Ml diyslUsdidl oledd] 5.

(i) sulAAM] aydH [ M2 8 d s8] 5.
Gii) AE-4 Y12 iyl oLl £,

(iv) Ad-3 Hle e [MAeL oLEl.

4 ~{l2AL Uil 254 Gor 2L 14
(1) 2R Ylndis 2i2d g 7
(2) s [HAel 2 UM SAL 2 iy AL 6L [BRAel] w8 7

(3) Ry =3.490 i Ap=2.631 €14 il 8 A&l His AU 2iqUd A
o 56 (B8 UMLel 32¢ Y1y 7

(4) T-5012] 27 F-520l2) dglaid & Hal il

(5) AgRs r, Aorddl yol 2.

(6) oiguelly usuoldis 2ed g 7

(7) v, =043, 1y, =0.75 »q r,, = 0.55 »ifus ysusiais-il 2is

B EY| HL2 Ty e AL
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ENGLISH VERSION
SECTION -1

1 MCQ 20

(1) Inright any wrong type one question X2 -valueis How much
df value for tabel ?
@A) 1
B) 2
© 3
(D) None of (4), (B), (C)

(2) Sample was normalized distribution, and three point scale
type of Data's Xz-value was 16.13, interpretation was
?
(A) Significant 0.01 level
(B) Significant 0.05 level

(C)  Significant 0.05 level but not 0.01 level
(D) None of (4), (B), (C)

(3) Areabetween 15 and —16 in normal curve ?
(A 0.16% (B) 0.38%
(C) 0.68% D) 1.00%

(4) When apply correction of 'yet' in X2 -test ?
(A) Frequency more than 5
(B) Frequency less than 5
(C) Frequency less than 5 and df =1

(D) None of (A4), (B), (C)

(5) In Mannwitney-U-test U; = 46.5, U, = 53.5, Ny N, =
?

(A 80 (B) 100
() 120 D) 140
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(6) Informula ofbiserial correlation meaning of U= ?
(A) Heght of line in normalized curve

(B) Variance of total group
(C) Scale of Pand Q

(D) None of (A), (B), (C)

(7) Which was relation of point biserial correlation ?
(A) One variable in discerte series
(B) Use to item analysis

(C) Discerte series divided in two parts

(D) None of (A4), (B), (C)

(8) Initem analysis, one item correlation of total test was 0.70

(A) Remove item

(B) Edit item

(C) Itemis good

(D) Not decide for item

(9) What right for biserial and point biserial have correlation ?
(A) Point biserial more reliable to biserial correlation

(B) Biserial reliable to point biserial correlation

(C) Both are equal

(D) None useful to research

(10) AD > BC in terachoricr

(A) Negative correlation
(B) Possitive correlation
(C) Zero correlation

(D) Non of (A), (B), (C)

(11) Relation to ¢ (Phi-correlation)
(A) x2 -value (B) Mannwitny-U-value
(Cy F-value (D) t-value
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(12) vy, =0.45, 1, = 0.62,1,. = 0.71, 1, |, =

(A) 0.620 @) 0.615
(©) 0.610 M) 0.625

(13) Controlled effect of other variables and measurement of two
variable is known

(A) Partial correlation

(B) Multiple correlation

(C) Tetrachoric correlation

(D) Phi correlation

(14) Factor loading = 0.25, Factor variance =

4) 0.06 B) 0.60
(C) 0.625 D) 0.07
(15) A, B, C and D were test, in correlation Matrix o =

----- (Column-1 and 2-Spearman law).

FAB TAD
V. B 7
BC BD
"BD ’BC
© 5 O 5
AD AC

(16) One column mean = 3.662 and /7 = 5.281, First centroid

factor loading = ?
(A) 0.641 (B) 0.693
(©) 0.683 D) 0.695
(17) Reliability = 0.72, Error variance = ?
4y 0.29 B) 0.28
(© 027 (D) 0.26
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(18) Factor loading =0.6, 0.0, 0.3, 0.1, Communality = ?
(4) 0.42
®) 0.43
© 0.46

D) 0.47

(19) Mean of square
(A) Square of sum of square
(B)  Sum of square/df
(C) Square of df
D) 88,/55,

(20) In methods and school type one research. three way classi-
fication how many F-values ?

4 2
(B) 3
© 4

™ 1
SECTION - 2

1 Answer any one of the following two questions in about 500 12
words :

(1) In one research, 5 students in each group and study of dif-
ferent teaching method on each group so test the signifi-
cant difference between group with F-value.

Group-A : 30, 20, 25, 15, 20
Group-B : 10, 15, 20, 10, 10
Group-C : 28, 12, 20, 10, 10
Group-D : 10, 14, 12, 10, 14

(2) (A) Give some intromation about siagnificant difference
in gender test with y 2-value :

1 2 3 4 5
Boys |50 60 20 50 20
Girls |20 30 10 30 30
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(B) Marks of two subjects are given below test significant
leval with Mann Whithey U-test

Maths : 25, 22, 24, 28 23 28
Science : 33, 35, 38, 21, 20, 23

2 Answer any two of the following three questions in about 250 12

words :

(1) Difference between Parametric and non-parametric test and

advantages of non-parametric test.

(2) Meaning of factor analysis, type of factor and law of

spearman about factor equal ratio.

(3) Define Co-relation with Spearman difference method.

Science : 38, 26, 42, 26, 29, 48, 26, 21, 40, 28, 29
Maths @ 25, 32, 30, 39, 25, 30, 25 28, 23, 30, 20

3 Answer any three of the following four questions in about 150 12

words :

(1) Two questions askd in teacher's training program. Opinion
of this questions is given below. Use these data and find
Phi co-relation (¢) :

Que.1
q No | Yes
i” Yes |60 | 90
. No [70 | 30

2
(2) 242 tableis given, ¥ -value is

Yes | No
Boy | 32| 46
(rivls | 68| 35

(8) First and second order partial coefficient of correlation with
example describe.
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(4)

Data are given below, give answers of questions :

General Factor [Reliability
Variable [ T 1T IIT IV

1 0.3 0.2 03 04 0.75
2 05 03 02 04 0.65
3 0.4 0.3 05 0.3 0.70
4 0.2 0.0 05 0.5 0.60

@  Communality of each variable.
(i) Lowest specific variance in which variable.
(ii1) Uniqueness of variable-4.

(iv) Error variance of variable-3.

4 Answer following Seven questions in brief : 14

(1)
(2)

What is the continuous series ?

Total variance = communality + +

hp=3.490, Ag=2.631, No. of variables = 8 so, define the

total variance of factor-A.

Difference between T-test and F-test.
Formula of tetrachoric-r (ry) ?

What is the multiple correlation ?

Py = 0.43, ry, = 0.75, r,, = 0.55 (In partial correlation r
= ?

Xy.Z
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